normalized X?

ol . 0.9159
10 E 0.8752
[ Entries 221514
= Mean 09742
10°F""* Std Dev 0.9645
107F
-5
10

< x2/ndf >

< x2/ ndf >

Boee

=

221129

[ normalized x? probability |

0.045
0.04]
0.035
0.03]
0.025

219584

Entries

Entries 221129
n 0.6064

- [Entries

t | Mean

. Lstd Dev

o
§ 1.05
0 2 4 6 8 10 12 14 16 1820 '0010203040506070.8. 1
X Prob(x?)
=== DQMstep3_SoftQCD_CKF
e DQMstep3_SoftQCD_default
= DQMstep3_SoftQCD_defaultNEWT2
g FEEEE A FEEEE
| SRR R PR P RRY DT TP PPPPPE PRRR
I it SEETEE LERT TS Tt FEPE
117 ++ﬁ
1.05 [ {I@Hhﬂim #HHHHH‘} .HH}{ 1,{14”
1 #‘w‘”ﬂ Hﬁ g . Hl
A E
8F 2 1.8F-
6| < 1.6f-
v E
4 1.4F-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
o O
T
@
0.5
0 -3
10 1072

-1
AR(track, jeltS)



	Contents
	Page 1


